EARAROBEEIERT — 2 N— IBISH —F

20128108108 (k) 10EIEM4H

BGNc — v5x3mt

‘ [R1%] & ‘ [REBB] — | & (&) 14000 B

[AE%] 17 :300,000 § 23 :54,000 9

/S 3#%&:27,000W  437&:15,000 @ 5 3#&:9,000 M

B ®RB mEBR Mk HE BF (&) 4L (&%) | BBIEG | EOF |SIEH | AR | HE | NG FIR) / BE / £EHS
- - o= Ak 1:32. - — | = | 1| 40 |mEomz @E®
1 TV ITITAHT SN (3_)0 (_339) BIEEE
R:TvJIRry b B v NLA E= 7 N 273
s 5 ft 5 | TTHbED 1:32.2 - - - 2 435 | REFRE (HhH)
2 Lz —"J 54.0 (1 1/4) (+4) THEfER
R:vyI72E>Z B:a%/L13 BRER 4%
G FEEI 32, - - - BE—F (@)
3 ¥y TaKRKy TR 3185 ! (312)4 0 (335) TrEFE
v —NFZ2H>F— B:F1—-AEN-Fz JNE 5k
= “ 4 | HFE= 1:32.7 - - | - 4 478 | Bth=— (EH)
4 i di e e AV i 54.0 (a 1/2) (0) buw
L:4¥2vy3> BTV AT L-L TH &
R . — 4 6 | FEMEAL 1:32.8 - - — 9 454 | BEERER (EIH)
5 Fr7—K7047F 56.0 (1/2) (+5) BHTET
Lexrinq4o— B:UTALT—FK * 27— Rikis
Py K . # 5 | AURE 1:33.0 - = = 1M | 487 |EEEE (EH)
6l7/9|7y FFr>X 56.0 (1 1/2) (g) | AEEE
LYW ITHRT 4R B XA —HTY v F 2l RE
NSNS # 3 | EB# 1:33.3 - — — 7 444 | BEGE (EME)
7|5|5| YNIFTLTER 5.0 (1'1/2) o |EHEE
R:¥xrinq4o—- B:tvar EREBEBE
S, 4 g | Af—K 1:33.5 = = = 10 | 462 |HHER (Fl)
81811 714 bo—=2 56.0 (1 1/4) (-3) T EBE
R:oa)—ZAnq40— B:HY>RIv—F1— [EalEskaed
y NP # 6 | JLHFRSL 1:33.6 - - - 5 | 492 | KEANE (FEk)
9 3 7[/_'77/ 56.0 (7E) 5) AT
L:vavrriL—"7 BAEFINT-X HLF/ RIS
o= L N RAFNHE :33. - — - 4 HHEF (FEhk)
10[8[10| /Y7 kv 7E—> R & e | G e
R:84LIST Ry 77X B:O-XT7A1XR FEE &
S ¢ 4 5 | ElEEE— 1:33.9 - - - 8 513 | SFUBIERS (Fafi)
1\7|8| 37/ A0~ 5.0 @ 45 | =T b
R:By THELRAYF— BAY/vany W xS

@ 11— —@EBIRfL

| 2=zr= 6,7,8,5,2,1,3,10,4,11,9
e 6,7,8,5,2,1,(3,10),4,11,9
d=zr= 6.7,2,8,(1,5),4,10,3,9,11
43 —F— 6,2,7,1,5,4,8,10,9,3,11

ABICOVWTRDTEEERROODE. TR LIV,




